
TV600a.pdf_25 08 2015

1x QX-AD3-0080-01RTB

A 4x ZU1102

91-BS0-006L15-4ZS2x

K

I QX-AD5-0080-02AK1x

L

J 7x
für/for M6

VB1069

M

3x M6x20
niedriger Kopf /
low head

007984-006020-8ZS

N

4x
M6x12

VB1092

1x DE1225E

C 2x VB1078
M6x16

H

1x VB1118

M8x35

F

D 1x VB1207
M8

2x VB1078
M6x16

O

4x VB1098
M6

P 2x QX-AD1-0011-01RT

nur für TV600-SP
only for TV600-SP

TV600

TV600-SP
mit Universal Soundbar-Adapter für /
with universal soundbar adapter for

SONOS Playbar
Bose Soundbar CineMate® 1 SR, CineMate® 130, 
Lifestyle® 135
Samsung Soundbar HW-F450, HW-F550, HW-F551, 
HW-H355, HW-H450, HW-H750, HW-H751, 
HW-J450, HW-J650, HW-J651

CineMate® and Lifestyle® are registered 
trademarks of Bose Inc.

G 2x
M6 x 985mm

various
sizes

Q 007380-005020-1ZS
M5x20

2x

R 91-BS0-0025-01SW2x

S 4x 007985-005012-4ZS
M5x12

U 4x 000934-005004-8ZS
M5

T 4x VB1106
für/for M5



1 2

B

C

a)

b)

D

E

F

A

Modelle mit lackiertem Glas/
Models with coloured glass:
Unterseite = lackierte Seite
bottom side = coated side



3 4

G

H

I

Rückansicht / 
Rear view

Draufsicht / 
Top view



5

6

Frontansicht /
Front view

Top

Bottom

J
K

VESA
400x400

4x 

Schraubengröße hängt 
vom TV-Gerät ab/
screw size depends on 
the type of TV

Unterlegscheibe ist optional, abhängig von der 
Schraubengröße/
washer optional, depends on the size
of the screws

für VESA 200x200/
for VESA 200x200

b)a)

L
J

M

N

400

300

40
0

30
0

35
0

20
0

40



7

7b)

Seitenansicht / 
Side view

Seitenansicht / 
Side view

7a)

O

TV600-SP:
Universal Soundbar-Adapter /
Universal soundbar adapter

SONOS Playbar

P
SONOS
Playbar



7c) Bose Soundbar

7d) Samsung Soundbar

Bose
Soundbar

Q

R

Seitenansicht / 
Side view

S

U

T

Samsung Wandhalterung 
lose anschrauben/ 
Install the Samsung 
wall mount bracket 
(loosely tighten)

Aussehen, Form und Position der Samsung Wandhalterung 
ist anhängig vom Soundbarmodell /
Appearance, shape and position of the Samsung wall mount is 
pending from the soundbar model

Samsung
Sound-

bar
Manual

Samsung Wandhalter ausrichten 
und Schrauben festziehen / 
Align Samsung wall mount bracket 
and tighten screws

Soundbar montieren / 
mount the soundbar


